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5 clocks

ckG1
ckG2
ckG3
ckG4

4 parameters

Initial

dG1 u
dG2 u
dG3 u
dG4 u

dG2 u>=5

& dG3 u>=8
& dG4 u>=3
& ckG1 >=0
& ckG2 >=0
& ckG3 >=0
& ckG4 >=0
& dGl u>=7

&s=0

input

(InputO

(Inputl

s =15
ckUp

(InputZ

32 >= s)

s = 32
dDown

(InputB

39 >= s)

s = 39
kDown

(U

Input4

True)

dUp

ckG1 := 0

dDown
ckG1 :=0

G11100

dG1 u >= ckcl)

gl g2
G10011 | ckGl >= o) (G2101 ckG2 >= o)
qG2Up \qG2Down gG1Up \ qG1Down
(610001 | ckG1 >=0) (62001 | ckG2 >=0)
ckDown ckUp ckCC;IEUI; 0 ckDown ckUpjckDown
(GlOlOl ckG1 >= o) G2011 | ckG2 >= o)
dUp dDown ckc(;iP P= 0 dUpdDown dDown 012%22[?; 5 qG1Down CIgé;ZH:J:pO
G11101 | ckG1 >=0 ) ((32111 dG2 u >= ckcz)
( ) .
CkgliU]i 0 ckDown ckUp ckDow? ?]kGGZZDZ\;nS
@11001 ckG1 >= o) (G2110 ckG2 >= o)
qG2Up qG2Up gG2Up ckDown \
kGl := 0 (dG2Down 51 .= o[aG2Down qG2Down ~ y51.= 0 ckG2 := 0 / CkUP
((311011 dG1 u >= ckGl) (GZlOO dG2 u >= csz)
ckUp ckDown ckGl >=7 ckG1l >=7 gG1Up |gG1Down gG1Down G1U
ckG1 := 0/ ckG1:=0 qG1Up qG1Up ckG2 := 0|ckG2 := 0 ckG2 := 0 (I°+YP
G11111 | dG1 u >= ckGl) (GZOOO dG2 u >= csz)
dUp dDown |\ ckG1 >=7 ckG1 >=7 ckG1 >=7 ckUp ckDown
ckG1l :=0 ckG1 :=0 | qG1Down gG1Down gG1Up ckG2 := 0 \ckG2:=0 #
~ ' s '
(GlOlll dG1_u >= ckG1 | (G11110 | ckG1 >= o) (62010 | dG2 u >= ckcz)
qu%ll E; 7 ckUp ckDow:V
((311010 ckG1 >=9
qG2Down ckG1l >=7
ckG1:=0  4G2Up qG1Up
((311000 dG1 u >= ckG1
ckG1l >=7 dDown dDown dUp
qG1Down dUp dDown 1g1.-9¢ ckG1 := 0 / ckG1 := 0
(GIOOOO dG1 u >= ckGD
qgG2Up gG2Down gG2Down
qG2Up ckG1 := 0/ ckG1 := 0 ckG1 := 0
((310010 dG1 u >= ckGl)
ckDown ckU ckDown ckUp ckUp ckDown
CkG1 := 0 P CkGl:= 0/ckGl:=0  ckG1:=0 [kGI := 0
G10110 | ckG1 >= o)
o\ P
((310100 dG1 u >= ckGl)

ckG2 >= 5
qG2Up

ckG2 >=5
qG2Up

ckUp

ckG3 = 0 ckDown

qG2Up
ckG3 :=0

ckDown

(@30101

ckG3 >= 0)

qUp \gDown

g3

'

G30011 | ckG3 >= 0}
qG2Up \qG2Down

ckUp

(¢31101

ckG3 >=

0)

J\

qG2Down

gG2Up

ckG3 = OqG2Down

_(G30001

ckG3 >= o)

qUp
ckG3 := 0

qUp |gDown

ckUp \ ckD ow? /

@31001

ckG3 >= O)

gG2Down

qG2Up
ckG3 := 0

(¢31011

dG3 u >= ckes)

ckUp
ckG3 := 0

ckDown
ckG3:=0

G31111

dG3 u >= ckG3)

qUp
ckG3 := 0

(¢30111

dG3 u >= ckG3

ckG3 >= 8
qG3Up

ckG3 >= 8
qG3Down

qG2Up

gqDown

ckG3 >= 8
ckG3 := 0 | gG3Down

(G31110
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ckG3 >= o)

Ckl;xckDown

/

(¢31010

ckG3 >= o)

qDown

qaDown [ 153 .=

0 qUp

qG2Down
ckG3 :=0

ckG3 >= 8
qG3Down

qG2Up

ckG3 >= 8
qG3Up

(¢31000

dG3 u >= ckG3

gqDown

ckG3 := 0

qUp
ckG3 := 0

(@30000

dG3 u >= ckG@

qG2Up
ckG3 :=0

gG2Down
ckG3 := 0

(¢30010

dG3 u >= ckG3)

ckDown
ckG3:=0

(@30110

ckUp

ckDown
ckG3:=0

ckG3 >= 0)

qG2Up

ckG3 := 0

gG2Down \

ckUp
ckG3 :=0

(¢30100

dG3 u >= ckG3)

ckUp

ckG3 := 0

gDown

g4

l

(6410

kG4 >= o)

gG3Down
ckG4 := 0

gG3Up

((3400 dG4 u >= ckG4)
ckG4 >= 3 ckG4 >= 3
qUp gqDown
A 4
(G401 ckG4 >= 0)
Clggf[_ipo gG3Down
(G411 dG4 u >= ckG4)
ckG3 >= 8 ckG3 >= 8
qG3Up qG3Up
ckG3 >= 8
qG3Up
gG2Down
ckG3 := 0
ckDown
ckG3 := 0

G31100

dG3 u >= ckcs)




